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V= {16.000 X 8.681 — ( 5.000 X 3.333 + 5.000 X 3.333 ) / 2
%1 %2 %3

+ 11.494 — ( 60.044 + 5.568 ) } X 0.500
= ( 122.231 + 11.494 — 65.612 ) X 0.500
= 68.113 X 0.500 = 34.057T m®
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V= ( 2.000 X 5.347 — 1.500 X 4.847 / 2 ) X 0.500

+ ( 5.000 X 5.347 — 4.500 X 4.847 / 2 ) X 0.500

= 7.059 X 0.500 + 15.829 X 0.500 = 11.444 m®
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V = 34.057 + 11.444 = 45.5 m®
LT
(RS o

A= 68.113 + ( 122.231 +11.494 — 77.341 ) + ( 5.347 + 6.009

+ 6.009 + 5.347 ) X 0.500 — ( 5.347 + 5.347 ) X 0.500 = 130.506 m?
(R EERI )
A= 7.059 + 15.829 + 0.500 X 0.500 X 2 = 23.388 m?
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V = 130.506 + 23.388 = 153.9 m?
(b pERIAE)
A= 4.2 + 66.3 + 11.7 = 82.2 m?
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A= 153.9 — 82.2 = 71.7 m?
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A = 18.253 X 0.500 = 9.1 m?
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A= 130.506 + 23.388 — 0.500 X 0.500 X 2 = 153 #m?
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V =24.925 X ( 0.500 + 1.000 / 2 ) = 24.9 m
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Wrimfs | pwrmisg 2 Ad | WrrnfE rwrmis 2 fE | Wrmifd  pswime N2 fH | WrinhE | ESmm R

NO. 73 + 3. 50 0.0
NO. 73 + 3. 90 0. 400 0.3 0.15 0.1
NO. 73 + 8. 00 4.100 13.1 6. 70 27.5
NO. 73 + 9. 00 1. 000 1.0 7.05 7.1
NO. 73 + 8. 00 1.2
NO. 73 + 9. 00 1. 000 12.2 6.70 6.7
NO. 73 + 0. 80 0.0
NO. 73 + 3.90 3. 100 18.6 9.30 28.8
NO. 8. 00 4.100 44. 1 31.35 128.5
NO. 73 + 8. 50 0. 500 43.0 43. 55 21.8
NO. 73 + 8. 50 0.1
NO. 73 + 9. 00 0. 500 0.1 0. 10 0.1

it 34.7 6.7 179. 2
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A+ y= 755.1 4+ 34.7 + 6.7 = 796.5

fEA+ v= 287.1 4+ 179.2 = 466.3 °

ety v= 796.5 - 466.3  / 0.9 278.4 3
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1) REREmWRATELZ L ( t=50mm )
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R 7 — F AR T (H-200 X 200 X 8 X 12, L=3. 900)
TER T — F AR T (H-200 X 200 X 8 X 12, L=1. 400)

3) DR EM  (L-50X50X6)

< REGEH
E¥EE =92 XX ( 7.270 X 20
THHEE =2 X 7 X 9.280 X 10.5556 / 360 X 2
N = 20.565 / 1.000
c DI ERERRE
L = ( 3.900 + 0.500 ) / 2 + 0.500
= 2.200 + 0.500
c HiE W= 21 AX 2.700 m X 4.43 kg/m

4)  HEEE (F—R B L— bk AKDB50X25X1.2)
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-HEHE W= 20.565 m*’/m X 2.200 m X

5 Mff=arzV—hF (t=25cm)
%3 %1 %4 %2
A =16.361 X 3.900 + 3.420 X 1.400

6) & (¢$5x150%X150)
%5 X1 %6 %2
A = 16.989 X 3.900 + 3.420 X 1.400
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+ 4.940 X 70 ) / 360 X 2

V = ( 46.519 X 2.500 + 19.328 X 0.900 ) / 2
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= 2.700 m
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= 71.0 m?

= 66.8 m®
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